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INSTRUCTIONS IN ENGLISH

Total No. of Questions : 100

Duration : 2 Hours Maximum Marks : 100

INSTRUCTIONS TO THE CANDIDATE

10.

1.

12.
13.

This is a question paper only. A separate Optical Mark Reader (OMR)
answer sheet Is issued to you.

Candidate should sign in the space provided on the OMR answer sheet.
Further ensure that the Invigilator puts his/fher signature in the space
provided on the OMR answer sheet.

All answers have to be marked with black/blue ball-point pen in the OMR
sheat supplied.

Immediately after opening the question paper booklet by tearing off the
paper seal, please check for (i) the same booklet set code (A/B/C/D) on
each page, (ii} serial number of questions (1-100), (i) the number of pages
and (iv) correct printing. In case of any defect, please report to the invigilator
and ask for replacement (by same set code) immediately.

Each right answer will be awarded one mark. There is no negative marking.

Use of calculators, mathematical/log tables, mobiles, blue tooth devices or
any other electronic gadgets is strictly prohibited.

The candidate must fill the hall-ticket number in the space provided above.
The OMR sheet should not be folded, bent or rolled.

Name of the candidate and hall-ticket number should not be written any
where on the question paper.

No part or page of the question booklet and OMR sheet be tom, detached or
removed.

The OMR answer sheet should be retumed at the end of examination.
However the question paper booklel may be taken away by the candidate.

Any candidate indulging in mal-practice will be disqualified.

This question paper booklet consists of 100 questions and the total number
of pages are 32,
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NUMERICAL ABILITY
If the number 1358+16 is exactly divisible by 11, then » =
1358+16 w3 Howg 11 S Jijhor yrRobudd » Desd
= * WP Ot e 1151358416 s
(a) 0 (b 1 (c) 2 (d) 4 Ans. A
The area of a rectangular room is 84 sq.m. If the breadth of the room is 5 m less
than its length, the perimeter of the room (in metres) is
B SEURs 0D A0 abE;, Srughn 84 5.0, 60 Gy Sde), PEY 508 5 .
SEBO o oy WEEud (BaYS)
& (b S nf sme gl fUifie #Emai0e f 7
(a) 12 M 7 () 21 (d) 38 .Ans. D

If a two digit number is 4 times the sum and it is also 2 times the product of the
digits of the number, then this number is

a8 Doth wosSe bopg, ¢ woSu el 4 T, WOAh & wosSu w8 2 0L
wod, © Sowg

Wl 28 o AU BN WG urm s sian ]

() 24 (b) 36 (c) 48 @ 9 Ans. B
(1234)* 4 (1239}’

4+ (1232)%
(a) 2 (b) -2 () 1 (d -1 Ans. A
(a) 25% (b) 12% (c) 25% (d) 25% Ans. C

HCF of the numbers 108, 144, 180 1s

108, 144, 180 e Dowges Gh), .30

0oty (HCF)-L& K 180:144: 108 |

(a) 2160 (b) 72 (€) 36 (d 18 Ans. C
Find the number which when added to itself seven times gives 56.

2 Dopgh ot Vowgs 7 v SOE 56 DS Mo © Lowg
_ﬁ:.rxJ‘bSGFé_wRutdbg?fmﬁagﬂgmm:

(a) 7 (b) 8 (¢) 28 (d 56 Ans. A
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An iron sheet 1s moulded to form a cone of height 4 m and base radius 3 m. Then
the area of the iron sheet (in sq. m) is

a,é 2d S 4 . I, 3 D, argargom Hu ¥ Hokym HODO. 6y
R B Frego (.D, mﬁ"}

,,Lb’h AN he 3 m Mo wblfrc kb ol m e AL
& (L df )

(a) 12m (b) 13 (c) ldn (d) 157  Ans,

The perimeter of a rectangular plot of land, with one side as 8 m is 160 m. If a
square land of side 8 m is sold for a shop from this land, what is the perimeter u{'
the remaining plot of land (in metres) 7

28 ghattn 8 &, v o 28 BY SSHUEIeEY D G, Sty Eud 160 . 2.8

gheston 8 . 1 o SHERrSBLY) gora & gl Lod SHTV eI adde
DA i Ay Db Fod (eg’)

B NS E 8 me ey e 160 mbb e £ tic n8 mdS F Ll
Wl LSOV ER L 2 S TSy fe PRSI

(a) 144 (b) 40 (c) 32 (d 64  ans. A

The cost of paving a square hall with tﬂm at the rate of T 48 per square metre is
< 3,888, The perimeter of the square hall (in metres) is

28 SHYFSEY 10 dop Doben (BY) LEHDHOH uE SBSLY DESHH G, 48
SOyS ks G 3,888 wly) BB, @ SEETTE (0 b Do
(o5

RSB 3 8885 AV L B Afie oL Ras R B0

@ 36 (b) 81 (c) 480 (d) 364  Ans.

There are 10 teams in a league, If each team is to play with every other team in the
league exactly once, then the total number of games to be scheduled is

28 S’ 10 et avmon. (08 20 i &) a8Y 208 of w30 wdbeld
@ alibeun E ebo oyg
MISUF Btz p (G 2 L5 Pﬁﬁkﬁﬂfﬁ;ﬁ,@f 10t fbis”

e

(a) 40 (b) 45 (c) 50 (d 42 Ans. B

e e e e ST e

el e bl — R
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12. There are six chairs in a row, Three men and three women are to be scated
alternatively. The possible number of ways of seating is
wth HBw 2.8 HEHS* domo, T Hibdues O SwiHd Hyes 220 Sdhard
2500 EnE730 gD, Iy Derearr EnByoBE Siksy ?
Urrl’ ﬂw-# L w-*?’})?.ﬂﬂ'_) -dwfuyuf s A;f.g ety L«f{ L,lf.rM
(a) 256 (b) 144 - (e) 36 (d)y 72 Ans. D

13. From the top of a tower of height 40 feet, the angles of depression of two objects
on south and north directions are 45°, 45° respectively. Then, the distance between
the two objects (in feet) is
40 wébibe HHike 28 Aptin PES W08, ¢ IPCES Sin OL), 688 DS
flv o HpHeo DOV 45°, 45° wffing Fares Toomyon. TJod BeHe weg
Srday (edhibhes®)

uﬂf.l-ug45";.!'45“ﬁ}'k&-ﬂi@ﬁoﬁugh;ﬂmnkrﬂgg o P s

K (- YR DAL
(a) 160 (b) 80\3 () 80 (d) 402  ans. C
14. Ifthen" tmuf'ﬂwhﬁmméﬁcpmgmssiun1,%,2,%,...#26,111611 n=
so¥[HEd l.%,i,%,... &* n'S {55 26 sovd, n Deod
n=__ Babfi 13,25, . s
(a) 51 (b) 52 () 27 (d) 26 Ans. A

15. The cost price of 10 articles is same as the selling price of 8 articles. Then the gain

percentage is

10 S0 55 o 8 Suhe wingo 3o Lirtdd ooy mdo

Sl @ desieL i s pfitnad 1S enof

(a) 25 (b) 20 (¢) 30 (d) 24  Ans. A
16. The sum of the angles of a triangle is 180°. The angles are in the ratio 1 : 2 : 3.

The measure of largest angle in the triangle is

af (Bobeind®) Eoro Fwéie 180° od Farew 1 : 2 @ 3 MBS S,

uDoBEB W Sty Ghod) Desd

el e bniusfadfn 2 ivhﬁ.ugﬂj/if.lﬂﬂ“.nf Kbl pgiusl ot

G LB st
(a) 60° (b) 90° (e) 120° (d) 150° Ans. B

5 P.T.O.
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T A sy ol 28600 iz to:be: divitded among ‘A, Biand G Faistis-ritio of%: %;%.

Then the share of Bin T 15

4
e, 28,600 Svecy A, B, Cmﬁ:z'g'% %gﬁ‘mﬁﬁum. syl B ahsy

arlee (G 0d®)
- ?fxﬁ(uﬁﬂ.ﬁ’ﬂbﬂdf}uhﬁﬁﬂufﬂtmhﬁ ----- :zzs 60071

4°

(9500 (b) 12,000 (c) 9,000 (d) 10,000 Ans. A
18. If the area of a circle decreases by 19%, then the percentage decrease in its radius

15

28 §)d Frogo 19% SHod o argrgio 0 dibde wdo
D 2 P s L ST o 19% 3K 5]
(a) 8% (b) 9% (©) 10% (d) 19% Ans. C

19. (60% of 48) + (20% of 18) =
(48 &* 60%) + (18 &* 20%) =

(60%K 48)+(20%K 18) =
162 152 142 132
(&) % ® 5 © 5 @ 5= AeA

20. lmtmlly the distance between the thief and the police was 50 metres. The thief is
running at a speed of 10.8 km/hr and the police to catch the thief running at a
speed of 14.4 km/hr. After how much time the police can catch the thief ?

(a) | minute 40 seconds {(b) 1 minute
(c) 50 seconds (d) 30 seconds . Ans. C
Soff, SiSdtndbe Wy (@rdoditwd® 50 oY Grdin Hed. Sof dobH
10.8 8.8, Fitws, Fofh DEHohS S5Sdd Koo 144 8.5, s
L, Jod Ddbo dthard ot SEEnd DLEuriud ?
(a) 1 o 40 VS (b) 1 &she
(c) 50%8R (d) 3028
L Li ke Gl siia Db 108 kivhesg e b8 S0l (SLabig 56T
WL S e K ig e nainS 144 knyhe

(a) AE40e2) (b) w2
(c) ££50 (d) 4£30
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21. A sum amounts to T 12,100 in'tw_n years and to T 14,641 in four years on
compound interest basis compounded annually. Then the principal amount in ¥ is
o8 Doy Q8 JESE (s diw a‘n&&aﬁ' & 12,100, sreofiefyd® 14,641
ErrahTdE, o ehes sy drardod”

Qb NPl S T oS g Bl 4,641 L1210 2 ekl S o

AT o b .
(a) 10,000 (b) 11,000 (c) 10,500 (d) 11,500 Ans. A
22. A leap year among the following is
e ol vtiae |
(a) 1900 (b) 1800 (c) 2000 (d) 2014  Ans, @

23. A pipe P fills a tank with water in 10 hours and other pipe Q empties the tank in
15 hours, If both the pipes start simultaneously, then the time taken (in hours) to
fill the tank is
P o o 2y o FYD DUE 10 fobd® Dodied. s Q ud 2y 15 Hoed®
s 8T 9 Jabfud, Todh VY 2830 80D &Y AoderDE L s*wo
(oL’

Sl 152 BLQAF R L ko 104 L0 A LF2 5Py

S (LU )L L L AQy e F e b FRn i Sl dr
(@) 25 (b) 30 (¢) 35 (d 40  Ars. B

24, Three fifths of a number is 140 more than 25% of that number. Then the number

is
a8 Nowg vy oOob wrEodu Jwn, o Dowg Sy 25% 5}&‘1 140 D85

sy o Dopg

mﬂg.aﬁﬁt#ﬂmﬁ%ﬁ:ﬁ@‘f L 2L rw(fr

(a) 420 (b) 350 () 360 (d) 400 Ans. D
25. The word that does not it among the following is

(a) Kilogram  (b) Quintal (¢) Pound (d) Litre

(808 SRS cukedd Dest

(a) & s (b) gotrd (©) 2ob ) bus

S AT (PO 0 1O

@ by S () *3 @ 4  Ans. p




26.

27.

8.

29.

REASONING ABILITY

The code word of MUSIC is 31254, Then the code word of SIM is
MUSIC 2.5 58 gr0d® 31254 wibéy. wad SIM ot £°§ o’

te LU /@ L sMsiFe b3 312542 ZMusICs/|
(a) 254 (b) 235 (c) 251 (d) 253 Ans. D

If ADMIRE is coded as 123456, then the code word of MIRA is
ADMIRE % 2.5 §°8 20 123456 oo, wond MIRA od 56 grad® Jbbd ?

oo V2 L WIMIRAPL b b 12345630 ADMIRESS/)
(a) 3452 (b) 4351 (c) 3415 (d) 3451 Ans. D

Tanuja is older than Haritha.

Rama is older than Tanuja.

Haritha is older than Rama.

If the first two statements are true, then third statement is

(a) True (b) False
(¢) Uncertain (d) None of the above Ans. B
B Ko e WS,
dirre 08 i .
B EoB L0 2.
et Bodh rsgew 20y worvd, s S Egaw
(@) 2y (b) &y
(c) RQgEwm SLyTin (d) 2380sH
+dz:. Wil s
o P
_-I:'_-L;f{a.-rlxw o
Worglel 2 ?«u_:é;,:g.m&!u,s,f?
(@) * O ) +¥
©) & (d) Sl Lyl

In a row of children, Ramu is 10™ from left and 17" from right. Then the total
number of children in the row is _ _
g wresd DEOS, oty HLBY Wod 10 D P LATY wod 17 B

o Sudth. v HHHE" Mo Todin eresd Lowg
UGB T Ul T A e o] b U0 M o bR LTS U

TJ:((?J :JJJ-"J
(a) 25 (b) 26 (c) 27 (d) 17 Ans. B

= [ "

T ey

. ¥ e — T —— e e
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31.

32.

In a class of 70 students, Asif stands at 30" rank from top. His rank from the
bottom is

70 0B e w8 SSMBS° D ovgo8 Wod wbl 30§ Ftnd® Sud. BIHS wod
@&l ovgo§

A e A S e Brig AL 30 pal T A LIS UETO

(@ 39 (b) 40 (c) 41 (d) 100 Ans.C

In a club, 40% members take alcohol and 30% smuke cigarette. 20% members got
both hahn: Then the percentage of members neithér consume alcohol nor smoke

cigarette is -
af Sand® 40 wédn od Dghu 3ummmmﬁmm
20 7St 2088 Toth sty Su vl Saund® Tododd® J weart T
wghee) Ardn
£ ST 20Vt LSS P 30l 2 S G0 P 400 £

i s A YR KT 6
(a) 10 (b) 30 (c) 40 (d 50 Ans.D

In the figure below the triangle, rectangle & circle shown mspucuvaly represent
the urban, hardworking and educated people. Which one of the areas is
represented by urban hardworking people who are not educated ?

BRSNS et (Bebuiy, BYSa(Hs DO Dy SuHm D e,
BG4 IS0 Dok darghodud rlbemo. daghode S SEA
DITD DY TweD O g itin TrIos ?

U A 7 1Y P I AP I S g SR T
s ﬁir(;b}:q_ EA U&‘V s
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34,

35.

36,

37,

AN

In the following question, choose the correct sequence of operations from the
operations +, —, %, +, such that one operation is chosen for one blank.

QD S DRE" + - ¥, + wHTuSe ol TS DT [ ¥ wrd RIS
2 WUTHS Sy oy S,

b M2 £ L6 Sive-g /e é‘JJm‘—_L;JUH BP0 S 1

e (X
(363 4=16 |
(8) (+ %) (b) (x,+) (€) (=x) (d) (+,+) Ans. D

The total of the present ages of Amar, Akbar, Anthony is 80 years. What was the
total of their ages, three years ago ? _

oDb, w85, o8l ([ Sabine diw 80 Lobsydhueo Sard
LobdyGime 88k 270 Hoblyyw Fndin Jod wan dodss ?

Wt I’u.mf v, UU i.ru,t‘:'—..a;_dl.rﬂﬂ.nf l’usféhJ Gﬁuﬂ: A

(a) 71 years/ojoreo/ - (b) 80 years/Soyoreo/

(¢) 74 years/hojores/ i (d) 77 yearsfoojores/ b Ans. A

In the following series of numbers how many 8s are there which are preceded by
an even number but not followed by an odd number ?
DS DAY Wowge HEBEE Swod & VO Lopg sotr SHaE T Rogg B2

ExSauor o 8 o Feigy 7

St ;,»-»h’u‘?-u:r#_;r_.maw%ugi" Bl 2 hbe b5t and sl
438523821368952832284584
(a) 1 (b) 2 (e) 3 (d) 4 Ans. A

Find the odd number out of the following series :
QI DS [AE” S &l Vopgd Sy,

AL Yy [TO0 Sy W ) 3 I
33, 3, 0, 3, 3, 6, 9, 15, 25, 39
(a) 9 (b) 15 (¢) 25 (d 39 Ans.C

The next term in the series 4, 8, 24, 96 ... is
(@84, 8, 24,96 ... &* S8 S5

< I, 8,24, 96, kLl e

(@) 480 (b) 420 (c) 346 (@ 286 Ans. A
10

: '

E - = e —




38. Observe the following statements
A : Itmay cause the sudden death if the adulterated liquor is drunk.
R : Drinking of alcohol damages liver,
Then, which of the following statements is true ?
(2) A and R are true, but R is not a reason for A.
(b) A and R are true and R is the reason for A.
(¢) Aistrue, R is false.
(d) A is false, R is true. Ans. A
(208 [BiSare Halobod :
A : 8b SXghs D06 Sed wsig S Hogflows Sy,
R : Sghn |ovibe Sub D56 SdHed.
a8 & (808 2°RE° DB 1T ?
(a) A, R e Bodh Jeso, A & s78mo0 R 57,
(b) A, R es Todh J20, A & s*Sao R.
(c) A deo, R &by,
(d) A 83y, R eo.

gl bt 3

A e FnCnerbifepuitdns
R+ e Grorie iy

e ol Litigin

(@) - ¥ ARGEIDIRAA
(b) -t ¥ ARLIUIOILRAA

(©) -e-r ¥ RaleJiloA

(@) -eDlLRule KA

n P.T.0.
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39. Observe the following statements ;
A : Bees pollinate flowers. _
R : Bees carry pollen dust on their bodies and sit on flowers.
Then, which of the following statements is true ? |
(a) A and R are true, but R is not the correct reason for A.
(b) A and R are true and R is the correct reason for A.
(¢) Aistrue, R i5 false.
(d) A is false, R is true. Ans. B
(808 [Badares Hedodod |

A EEniseo Do HOESwin I,
R ! 2088 wotE Hdma s e Yopod Srdyodran.
wond, & (S0b ¥’ D8 LT ?
(a) A, R eoBoh Juo, A 8 V0N s*Ue0 R 576,
(b) A,R e Both R0, A 8 $T0 s*dmo R.
(c) A Re=o, R &by
(d) A&y, R o,
L VO S g T
A o-un AT qu:‘:{-u_ﬁl
R : -u_:&":;;ufﬁuru_;GL,/L.:.;q(’s%.rug
Tﬁ-_.gugbufa.;_ﬁd_ .t.pm;
(8) - Bor B¥ ARSEZGHRAA
(b) -q_.,.ré‘mtnuwﬁ:hmm
(€) -ewifReJileA
(d) _+J:L-Rr§..fil’ﬁ
40. If South-East becomes North, North-East becomes West and so on then what will
West become ?

(a) North-East (b) North-West
(c) South-East (d) South-West Ans. C

ufyobo, ado sowd &Togo, DD sPHod. edhyd DE R
I Eod ? " '

(a) SiRgE (b) araiogin
(c) wfyobiw (d) Iwa
Bt T AMELT I e Y PV A~ bV A 200
@) JSr-J@ (b) =AU
G = (d) </#
12
A

pr— e i

=

—-*:—'Ei—-—'—?_‘—'_‘—ﬂ-'_—-——'-"__*-—- -
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41. My grandmother’s only child's Imm:[’nmaﬂwr related to me as

(a) Mother (b) Grandmother
(¢) Aunt (d) Sister Ans. B
T s G, IBE Doevsin Gy o8 Gy, $08 % Ko Lowoln
(@ &9 (b) syl
© ©s (d) %o
SV e AL NS s e
(a) Wb (b) b
(€) U (d) o
42. Which sequence of letters does not fit with the others ?
(800 06" ouadd 6 &8 @
SGH IR s S
(a) ACE (b) GIK
(©) MOQ (d) SVX A D

43. Consider the following statements :
1. Increase in interest rates results in higher savings.
2. Increase in interest rates results in borrowings.
‘Which among the above statements is/are carrect ? Ans. B
1. &4 dw 2ond e HHEcd,
2. 34 Bt 200 siypes Blosido BIHHB,
R’ 20/0D gty ?
Eofyath L)
3 -.,—;Mm;.tu?&.mﬂuuy;u}g
2. e bmibifeles e i il LusAlr

Sl Behr e bt

@ 1&2 ®) 1

© 2 (d) Neither 1 nor2
1 5% BB 2 5
217
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44. Fill in the blank with suitable word :
(a) Current (b)) Heat

Clock : Time : : Thermometer :

(c) Energy (d) Temperature Ans. D
BIBS DDYS P S VEE Lproolys,

&G | Wsnahaw : ¢ r.‘éo‘g&bhd: :

(a) [oavir Dl (b) &%
(c) %8 (d) agis
R R

2\ Ao
(@) of (b) =it
() b3 (d) =Nes

45. Fill in the blank with suitable word :
Cricket : Bat : : Volleyball :
(a) Net (b) Hand
() Leg (d) Court Ans. B
&rbS 23S e PR HTS LSS Yooy,
83385 : ergtwy i arbard
(a) B8 (b)

ﬂomg
() svew (d) & (ue Puaw)
& L il Bl
et .
(a) = (b) #t
() & (@ <o

The shape that follow the below four shapes is (Q. Nos, 46 — 47)
BIHSIDNE areoth es iive ddhord 5Ty es i (Q. Nos. 46 — 47)

(46 - 47 A T U e AL U5 2 UL s

= b

46 () —— (ii) : = (i) f— : (iv) = :
@ P+ O P © ] @ P aw C

a6y LA L gy PLLAL @y d A Gy 2
@ /7 ® ¥ ©) | @ \ Ans. B

14



48. There are four figures, nulafwhihhﬁueemmm some way while one is
different from the rest. Find out the different figure.

it JQYY Frestd TEnudt Wrdodd’ rirhshy dot o8 Sy S Som
@od. 3= sod G i,

S e WP LB I AL L fis e P o U

- AT
" @ < J
) A @ 4> Ans. C

Choose the correct mirror image of the given figure (X) from the four alternatives
when the mirror is placed in the plane 1 — 2 ; (Q. Nos, 49 - 50)

Q1D MY Sreatd [Dengirmard® (RS iyt TE(X)H s () 1-2
6 (paDowEy S, (Q. Nos. 49 - 50)

B -2 T e e e il LSS B e 5T 0P TS

(49 - S04 )i VU
49. X: @ I
1
(a) @ (b) .® (c) || (d) ®
S Ans. c

Sﬂ.x:ﬁ£|
"

(a) 2\ (b)‘g (c) S\ (d) z|
| Ans. C

15 Y P.T.O.
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GENERAL KNOWLEDGE
GEOGRAPHY & AP HISTORY

51. Match the following correctly :
1. Prolaya Vema Reddy
2. Raja Raja Narendrudu
3.  Manumasiddhi

(Bod ao0D RO exdTakin :
I (@ech 34084

2. oreore Sdoidhd

3. W.Jg

AW

1. dédl{-'k]l{

2. kAl

3. d' 5.;-'11L

(a) 1—(i),2-(i), 3 — (iii)
(e) 1-(i),2-(),3~(ii)

(i) Tikkana Somayaji
(i) Errapragada
(iii) Nannaya Ans. D

() 3% dhaee
(i) Quporis
(ii) S&aH

(i) Glrtd

(ii) U-"";:IJI

(iii) ¥

(b) 1 (i), 2~ (iii), 3 - (ii)
(d) 1 (i), 2 (iii), 3 - (i)

52. The key person of the agitation for the implementation of Telugu spoken language

is
(a) Sr Gurajada Appa Rao

(b) Sri Kandukuri Veeresalingam Panthulu

(¢) Sn Gidugu Ramamurthy

(d) Sri Raghupathi Venkata Ratnam Naidu Ans. C
Beoily HEbFOE erartigin G, rua)dand

(a) (B roBerd waryoy

(b) (B Eotkdro SF%Boio bodes

(€) |7 Akib ovboiard

(d) |} SEodd Sosbiso Sraud
ety L Ll S\ %

(@) byl
(b) Aﬁ*ﬁmdfmi&
(©) iy,
) e Eg A

e e — e i ——

s

R — B e I




A

53. The freedom fighter who hails from Andhra Pradesh and is contemporary to
Sri Bala Gangadhara Tilak and Sri Lala Lajapath Rai is
(a) Sri Tanguturi Prakasam I'amﬁulh
(b) Sri Bhogadi Pattabhi Seetharamayya
(c) SnGadmheﬂaHarivaumﬂm A G
(d) Sri Potti Sree Ramulu
(% ercidomgl 8of Bbdh (¥} oror cebiodd o WsbEEh woBRas
orgronl Bodk Frgdo|dg DS

(8) (B borbérd [Hs*Ho Dodes ) (B §me b bevouaby
(6) (B ma3gine ueigh oy (@) (@2 fotwe

& AL L eI SIS 05Tl gt

(a) FHH SIS, (b) i EsAs,

(€) SBASRIZ A, @ FAsdis

54. In which of the follnwingfmadomﬂmgglen,thnmhph}vd by the farmers of
Chirala-Perala region received prominent recognition 7

(a) Non Payment of Taxes (b) Prohibition of Foreign Goods
(c) Salt Satyagraha (d) Scpoy Revolt Ans. A
Jrgdolse worodt Giighy Vabtnd® Doy - Dore [@rodind®d Se (s
KBS hood) Srodid ?
(1) By doEéw (B) 284 5D g b
(c) oy vegfiaras (d) Wdrove Biberw
PR eGP S LU L UL s EL A S
) Fopwdle ORI
(©) fa i (d) RS
55. The place where Sri Alluri Sitarama Raju led the agitation against the British rule
was
(a) Chirala (b} Hyderabad  (c) Rampa (d) Rajahmundry
(3 weord beroborer DER 2708 ST St 38 )dein Sirod ordd [KdH
(a) Dove (b) woSoerE  (6) ob (@) ocewoy Ans.C
el L ALBPIIBL P g L 20N
(a) V& (b) e (c) ¥V (d) <kl

17 P.T.O.
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. Which of the following States is not a border State of Andhra Pradesh ?

Chhattisgarh Madhya Pradesh
{:} Pnndit::];g:lr'y E'.i; Mahaiiashln Ans. B
BOBRET o>Fr908 LOLD T ovisdw (8ol adE* 28 7
(a) $85K5 : () g
(©) oadyo (d) Hitody
Se- ol ibumd sy i el usle ULl
(@) =IA° (b) g
() YEH @ A

. The a;mual range of temperature is maximum in which of the following Indian
cities

a) Kolkata ) Delhi

Ec Hyderabad d) Cochin Ans. B
(B0l DEY R e 8T EY WiceS' 08 afifer sosdin edSium Hud

(a) &dEer (b) &&

(c) Trdowerd (d) Fdys

e h"[,‘ixl.};. i &JH‘ 1O e llbq_.ﬂ;-';,r‘r 'E-L,itu.!f d'ﬁﬂHJ_ iy

(@) =6/ ®) &

() Ve d o

. Among the following, well irrigation is dominant in the region of

E&} North Coastal Andhra ?:} South Coastal Andhra Ans. )
¢) Rayalaseema d) Telangana

&1 (800 a7S* LS o ergor Sebdrabihn IR [Brodty

(a) add &S woll (b) &8m &3 woid

(c) orabebd (d) Beorrs

Sl P AN S LT B e A

(&) Ve j.rd”/d# (b) t-'ﬁfd#‘/(}ﬁ

(¢) i (d) tge

. The district with largest population in Andhra Pradesh, as per 2011 Census is

Eng Ranga Reddy Eb East Godavari |
¢) Guntur Hyderabad Ans. A

2011 sarer SHo (D5 Ui wo[PREFS* w808 avver Ho Bg

(a) o33 (b) &rdyy Horbd

(c) Mot (d) Wwﬁ

St SUL GO M2 T L S 26 2011

() i (b) Wabd 0

(€) @) e
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60. Kakatiya Canal is part of which of the following irrigation projects ?

61.

() Nagarjuna Sagar (b) Telugu Ganga

(c) Sri Ram Sagar (d) Pranahita-Chevella Ans. C
s58ab e (Bod LEYH) @ VeSS (FBPS o itw ?

(8) mmds b (b) Beoth KoK

(c) [BorD 66 (d) |@oind - T3¢

LN R N

(a) A (b) ﬂl@?

(c) A by (d) L5-Gig

The States which got benefitted first from Green Revolution, apart from Western
Uttar Pradesh, are

(a) Punjab, Haryana (b) Punjab, Maharashtra

(¢) Haryana, Andhra Pradesh (d) Maharashtra, Kamataka Ans. A
GESEET oopyns®d DRy s’ P08 Bk S twoh o Sobd
'u"gju

(a) Woerd, drorger (b) Bome, WiForay

(©) oy, SoEEdn (@) Sy, SomoE

SIS LI Bl Bl S >

(@) “bports (b) Al

(c) Ungpslaln @) FelAuy

In India, the coal reserves are mostly found in the river valley of

(a) Brahmaputra (b) Narmada

(¢) Kaveri (d) Damodar Ans. D
yrEud i’ & 58 S'abd® &°h Degen DY Bhom wfran

(a) i (b) w5

(c) s30 (d) oarsd

Sunsz A LGS o Pl AL E A i

(a) e (b) lo;

(c) Yok (d) vl
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63. Chatrapati Shivaji International, Aigport is; located at

65,

(a) Mumbai (b) Chennai
(c) Pune (d) Ahmedabad
(@08 2ovd wodgrdab S fobuiie Dy
(n) Swowah AL (b) S8),
(e) s (d) edmorerd
o 7
@ & (b) &
(¢) &f (d) ila
“Yarada Beach’ is located in the district of
(a) Nellore (b) Krishna
(¢) Prakasham (d) Vishakhapatnam
‘afroed HE' D oSt 400 7
() Seord (b) (83
© [osvio (d) drwdeo
1.{— d_.' -'bté, Jl: ugﬁ!n.
(a) sob (b) &/
© % @ (B
Mount Abu hill muunmlacamdm State.
(a) Rajasthan (b) Bihar
(c) Kerala u (d) Tamil Nadu
SFrodiver v Jprod Ex¥o e oo
(@ ougs (b) bixns
(c) =8¢ (d) &
e St e LT
(1) o (b) s
(© 1 @ st
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66. ‘In India the supreme power rests with the people’. This characteristic describes
which of the following essential elements of Indian national life ?
. (a) Democracy (b) Secularism
(¢) Social justice ) (d) All the above Ans. A
‘ar 888 5 ES ﬁﬁgﬁgﬁ Wsmwu @‘aﬁr.«ﬂ'. s E55 1;%:036":} PYsL
=7 uﬁw&lhggnﬁ_ hood? -

(a) (erdrghgn (o) o'ss8sgw
(c) d&res orgabi (d) 25
4.;5.!1,-";;11:1./'&..;1#4;;ijﬁi!umlq.ui}&umrmjﬁ‘ﬁﬂugm“
' fedaryild
(1) ont ) %
(©) Sk (d) [Vt
67. The Prime Minister of India is elected in which of the following modes ?
(a) Direct (b) Indirect
(c) Mixed (d) Decided by the President ~ Ans. B
P58 Rrioo8D (808 LEGN) 0 O WBE" XunSloteth ?
(8) (osgy (b) 26%
(©) DpF (d) orgHoB SGavrd
e b BN nL e p AL
() =tk (b) Atk
(e) LF @) vl e
68. Which of the following is the first State to form on linguistic basis in India ?
(a) Andhra Pradesh (b) Tamil Nadu |
(c) Gujarath (d) Jharkhand Ans. A
g SSTHS” prar (DBLOES oy IwHIE ovdyin (Sod 2v0* D8 ?
(8) wolBEET (b) BDardd
€ Hucs (d) egol
te Poanartiidnd plrdopserinSutse L
(@) g2 ®) st
© < | (d) 2
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71.

/N

Find the correct matching of the following :

1. Formation of SAARC (i) 1945
2. League of Nations (1) 1985
3. UNO | (iii) 1919 Ans. B
Bod RS 1T wie S,
l SAARC Q‘_ﬁ:ﬁ: (1) 1945
2. Tores s (i) 1985
3. mﬁg::‘aag abes (11) 1919
&tz
1. S AR () 1945
2. GrIg (i) 1985
3. UNO (iii) 1919
@) 1—(@), 2~ (i), 3~ (iii) () 1 —(ii), 2 - Gid), 3— (@
() 1=@ii), 2~ (i), 3 - (i) (@ 1), 2 (i), 3 - (i)
One-third of the total seats are reserved for women in elections in India.
(a) Rural and Urban Local Bodies (b) Legislative Assemblies
(¢) Legislative Councils (d) Al of the above Ans. A
grO8Efhnd" din §‘5¢‘§‘ 2rdn Dok ..E’-mén Dirgul QQJ_S@G‘
Feravodudnd.
(a) (e Doch bom FAEDoPw (b))  Sed g
(c) Sgvshodd (d) Tasdy
e L Vgt PN S
(8) UIMISEESE ®) Fliwis
() Jipie @ (Pt
Which of the following is a renewable resource of energy ?
(a) Coal (b) Petrol
(c) LPG (d) Solar Power Ans. D
(808 &*dE" B Pe=H)B seHe 0EH BN ?
(a) &b (b) &
(c) ®Hod g (d) &8
S b B g e it
() X - () Uk
(¢) LPG @ duag”
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72. Which of the following is not one of the principal organ of the United Nations ?

(8) General Assembly ~ (b) Security Council ans. C
() World Bank (d) Tntemational Court of Justice

(@) dordom s ; ) e wosd

() [P0 argoth 2 (d) .ﬂnﬁf#& msd:?&ﬁm

te SE G ST AL

(@ 2 ) SHhE

() Bl (d) ST

73. Which category of vehicle drivers are exposed to road accidents most prominently ?

(a) Two-wheelers

(b) Three-wheelers
(c) Four-wheeler private vehicles

(d)  Four-wheeler public transport |
8 [Erare st 26 b Ddod aird T S 1808 R D8 7
(a) &g (8 avars Jdhen
(B) (B S8 o TS
() ®reatd Sisre Hg8AS oD Fdes

(d) Sreatd Ssve e S s Foen

fe DN Bl e e PGS SE Ul

-Ans. A

(a) LA n (b) ud.f!r.#;gf
(¢) Uihrecdlo sy (d) m‘#’“—%ﬁf&

74. Who attended as the Chief Guest for the Indian Republic Day Celebrations held in
2013 ?
(a) Bhutan King (b) Yingluck Shinawatra

() Hasina Begum (d) Sheikh Hasina Wazid Ans. A
2013 D RobEySiwd® BN 488 Hedo® B3 E)m=R8 DTS Lepg w85
(a) &rtrs omer (b) =mofiess hvar (e
(c) hor TS (d) &8 ha o286
Wl 2L LGP Yutit forLae Pn? (i f2013 (612042013
(a) kAL (b) 1A
© (d) whal
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75.

76.

VAN

Which of the following States in India was exempted from the Right to
Information Act, 2005 of Indian Government ?

a) Meghala Assam
{c} Ianﬁnhu Kashmir {b None of the above Ans. C

P E8SHwS'D Bibd DOYS) orFrged® D orgiy g8 Lebdel Hirard riy)
Wiy — 2005 wod dussfavodaGod ?

(a) dwreah (b) @0

(¢) wiw) &85 (d) 232 sy

?Iﬁk”b‘:? LIMSru;ﬁ{cfiﬂWMb)ﬂLP J'ﬁ#ﬁ_-r}m/ Py ot UFL;JF'AHJ{J_' 3
(@) A (b) (v

(©) & s @ Slhe

In the month of December, 2012, in which of the following States the general

_elections were held for their Legislative Assembly ?
{a; Gujarath b) lz-limaﬂhai Pradesh Ans. A
¢) Gujarath and Himachal Pradesh d) None of the above

2012, 8%ond Sud® S DEYE) D oot S VS BEe IRes

e0mon 7

(a) (o208 (b) S GF

() thaord Db driwdd (HEE (d) DED sy

PPl LTI L e e UL 2201223

@) = ) Pk o Epdesed g A o

What is meant by ‘Light Year’ ?

(a) Longest year

(b) Number of days with sunlight in polar regions ans. C
(c) A unit for measuring distance

(d) Volume of the light transmitted in one year

‘sr08 B’Juéaiiad‘ém' v Jan 7

(a) “oBEIS LobsyShw

(b) &y |Froered® IO Ko LHS Bikues

(c) GrSind Fod [Dirstn

(d) =¥ R}o‘b&gd&m&:‘ 0003 5v0d LOLrmhy

T@.Jl_;[:.;ﬂb‘
(@) Jdreor () ISUAL Ly Yo
() dhdFell (d) AESFdhi sl
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78. Which of the following is true ahautﬁ’;nhﬁmmg 2

) It is another name of speed breaker.

] Itismﬂntfmmofm Ans,
g Vehicles should always be stopped h ». B
 All the above
Slar (SoA% Dowofod (800 avRd’ 28 Legin ?

(8) =8 inE [@F86 S borgad Hisiw.
b) 88 Foroduw B a8 rdodd.
() sirores pUySdom asid smd.
(d) =&
tll‘_nh".d}krup Ll pie s
(@) - ikl
(b) e B L ESEE S ok
() -&-bUale2asUytr
@ (Oless
79. The Tﬂlu Film Producer conferred the Padmabhushan Award of the year 2013

M :Su'zﬁﬁi E,Fﬁé uﬂﬁdsb'm 2013 & mﬁégw uﬁgﬁ"’u}sﬁ' ua'ga
auyod 7

(a) (8 odgdss (®) (330, oEols B6
©) (38 ciraahd (@) (% o8 @5
e il Ay Pe SR a Pt 201300 58S

(&) 201y (b) HegarioGeinsy

(c) 1= G3Sr @) A ¥isge

80. The author of the book “India 2020 — A Vision for the New Millennium” among

the foll
® *Dr. AB.J. Abdul Kalam ) $5iPY: Namsimha Rao
¢) Mrs. Indira Gandhi d) Mrs. Kiran Bedi Ans. A
& (800 0&F “molalr 2020 — I DesS D5 & brvg BOVHE” w PHE SSons
(a) o 8. o LS D) R 2.2 Sshodoy
(c) (%28 mcdo~ mod (d) (P58 55584
St e L) el “India 2020 ~ A Vision for the New Millennium -
(a) (OW-2—- -1/ ) Qs

() UHfusin @) el
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GENERAL SCIENCE

81. P is the pitch of the screw, N is the number of divisions on the Head Sciile then

the least count of the screw gauge is

Hb|Forostin P, do Te dyrore Dopg N woud, wmy e Ginsy SX
'ud

I'nftu[}gﬁh’afuf‘lE{.N':u;d'ubjggk‘:];mgi@ﬁ}l_g -
(@) PN (b) NP Ans. A
(c) NP (d) /NP

I

. The radiation used to take photograph in the dark is

(a) wisible radiation . (b) microwave radiation
(¢) infrared radiation (d) y-radiation Ans. C
wWESS® P& BabarD8 aLErNoT DB8mre
(a) ﬁ;ﬁ'ﬁﬁ 288ren (b) @Lﬁ'ﬁﬁoﬁ wS8eren
(c) Bt D8Saves (d) y-J88mren
St U2 L SFasd
(a) L, b) ChtignA
(c) CuALad (d) Cb-y
. The SI unit of magnetic flux density is
(a) Gauss (b) Newton/coulomb
(¢) Newton/amp-sec’ (d) Newton/coulomb-m-sec
eobdy 08 §L& eforir Jrodd ae) Sl [ , Ans. D
(a) o (b) SrgoS/Ereoss
(c) HrgbS/aobahb- 7 | (d) *rgbS/Eresod - -
se st Nt
@ ¥ (b) Al
() 246 4 (d) R Hleh
16

— e, ———

3 b - - - —— ‘r—_




A

84. Resistance of a conductoris ______ proportional to its length and is
proportional to its area ofmmﬁm_
(a) inversely, directly
An
(6 directy, inversely ge

(c) directly, directly
(d) inversely, inversely

aird WS o PEHB
gmwgas &* sotod.

(a) dSrbdrdo, whdrdrdo

(b) wHStrddrdo, St do

(c) whSrhrdo, eSS arhardo

(d) &*rbardo, DSarbardo

e PR L TEEA LW S

&' dotod B0 @D g gHy

@ (v
®)
©
@ v

85. Unit of measurement of the consumption of electricity in houses is
(a) Joule (b) Ampere-Second
(c) Kilowatt (d) Kilowatt-Hour
a¥)d* I AoT Ayt )8 0T Whretw - Ans. D
(1) & (b) woPabEE
(c) &' (d) 8S'==&Hok
%JKIJTMPM:&FU_J
@ Jz (b) -4

© ik @ et
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86. The pH value of pure water is
00%E 8 Gy pH Desd

- J-:’PHJ l.!'ki..t"IJ +

(a) 4 (b) 5 (c)
87. Semiconductor in the following list is

(a) Silver : (b)

(c) Rubber (d)

(808 aE* Xbeb el avirdo

(a) Jod (b)

(c) b (d)

== J" r‘(eu: -.-.-*M j

@) “4¥ (b)

(c) < (d)
88. The units of Atomic size are

(a) Angstrom (b)

(c) Mol (d)

FAleT - avgﬂ"gc G, Oy .

(a) ohgmo (b)

(&) 3IrS (d)

e AT

@ o (b)

() U d)
89. Who proposed the first atomic model ?

(@) Rutherford (b)

(¢) Niels Bohr (d)

LT DRI s Jad (LaSr8oTd: ?

(a) GrgbcHE (b)

() &L (d)

YL U Uzt

@ WA (b)

© s (@

Ans. C

7 d 6

Silicon
Gold :
Ans. B
MOsS
oM

oL

by

Electron Volt
kilo Joul

.'k.':g-)5 S‘g Ans. A
Ll 4l

-.i-«-'ut}:}gl
Jé¥

Max Planck
J.J. Thomson

Ans,
‘&'53 arof D

23, S
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91.

In a periodic group the ionization energy from top to bottom.

(a) decreases (b) increases

(c) first decreases, then increases  (d)  first increases, then decreases

o8 ubgs SPwe* B Dod (8088 sabdEtn 58 ~

() s (b) s Sl

(c) Swaser S0, 5D WD ' (d) Swee wON, 28D Sk

- (BAFAD SIS i e s fSor

@ & ® &

(e) w -% (d) fﬂ%—&?’ k%

Which of the following is a strong reducing agent ?

(Bod & PIS® wed FahESm S5y I8 7 -

S (LI A I 2 T Ans. D

(a) Ci (b) Ca

(c) S (d) Rb

The glass used for the preparation of electrical bulbs is

© Quagie o S
c; 8 d) i8S

Nhed wegyo SafrbE abarnod M e D

(a) 208y me (b) oS e

(€) swbE me (d) e e

R (S S

@ Y4 o (b) vl

(©) v (d) vl

The chemical used in the preparation of cool drinks is

(a) Carbon Monoxide (b) Carbon Dioxide Ans, B
¢) Methane (d). Acetylene
do Fary S050S° e S abso |

(a) sE)SIT>INE (b) =838 dur3 8

() FS (d) RudS

Yq_.b??ﬂbﬁ“hk{b{:lf{.ﬂd;?tf&pﬁ;ﬁ'

(8) XUThux _ (b LTy

Cl @ s
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JAN

94. The sugar which has lowest sweet is

(a) Sucrose (b) Lactose ans. B
(¢) Fructose (d) Glucose

(Botd arRE* wege BabesiSo He S8

(a) ¥o5%F (b) orgeS

(c) @8'F (d) or8E
i‘-;:-ﬂ:frr-:--ffdﬂ“—uﬁﬁu’f

(@) < k) 4

© 7 d) ¥

95. The following blood group candidates are called universal recipients
|Bol S8D¢ow EONS g e [Hardes sotrd,

e bl B6T W Sk ) s
(a) A (b) B ans. D
(e) O (d) AB
96. Normal blood pressure in a human being is
SERNG* Forde 88 bty
Se bl R b bt Uil Ans. C
(a) 120/100 (b) 120/90
(c) 120/80 (d) 120/110
97. The part of human brain which maintains the equilibrium of the body is
(a) Brain stem (b) Cerebellum
(c) Gyn (d) Diencephalon
465 Uver 28 Eirsit iy BEd o Ans. B
(a) 25D soddw ! (b) eIy
(c) @od | (d) egifgo
T G Jeen T e L fk Eadl
(a) [~ ®) (z
() $# @ o
30
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98. In plants, the kind of grafting in “V” shape is

k. -

.

Ans. A

Ans. D

Ans. A

(a) Cleft grafting (b) Approach grafting
(¢) Tongue grafting (d) Bud grafting
V" a0t wotsip 150 |
(a) B5 wolnsbb (b) YIS woboipd
(c) ®ofi wotnStut (d) Swif sotwsts
: ¢ AMK e SUni APV
(@) Bln ) Ffogl
© E/le @ A
99. HIV concentration is more in the following.
(a) Saliva (b) Sweat
(c) Urine (d) Blood
HIV 3o (808 a2¢* Ba6* s
(a) orormeoiy (b) Tgddtw
(c) wr(ew (d) &80
g DorealJI\K HIV s |
(8 JF (b) =
() «% @ o?
100. Which of the following diseases is caused by the deficiency of lodine ?
(a) Goiter (b) Anemia
(c) Diabetes (d) Rickets
0 GES S0 by Sk &30
(8) moves (b) Sdar
() Sarass : (d) os&y
St L a e T f R 3t
@ A (b)
© S @







